JAPA ZCHELT 1

A 1. Watch thevideo MZU®F LT 1] and pay attention to the highlighted sound in the
~ dialogue. https://youtu.be/1aDZTGOCMZw
N 2. Listen carefully and circle the sound where in the other speaker’s previous utterance the
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1.
.

Fill out the dialogue below with your own information.
. Find at least three potential places where you can have overlaps and indicate them with
underlines and circlesasseenin MZU®HF L T1 ] .

3. Use [&] orother variations in at least three parts to indicate your understanding of

\_ what you heard.
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Categories Points
Vocabulary n
Grammar n
Accuracy in character use /1
Appropriateness (Register) A
Overlaps /3
Use of & | 3
Total: /10




